Interlude 1: Exercise 1

Explanation

Thisis astraightforward exercisein plotting points in a coordinate system. In the first edition, the last formula should read x(t) = Sin? t — cost.

Hint

Begin by entering the formulainto your graphing system. Then set the range of the graphing.

Answer

nft)=t*+3t3-12t> +t-6
In Mathematica we write,
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Plot[t*+3t°-121* + t-6, {t, -4, 4}, AxeslLabel » {t, f[t]}]

f(t)
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m g(X)=sinx — cosx
Plot[Sin[x] - Cos[X], {X, 0, 2w}, AxesLabel -» {x, g[Xx]}]
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mf@)=e’+alna
Plot[Exp[a] +alLog[a], {a, O, 5}, AxesLabel -» {a, 6[a]}]
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X(t) =sin’t + cost
Plot[Sin[t]®+Cos[t], {t, 0, 2x}, AxesLabel -» {t, x[t]}]
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